Review for Quads Test #2 Name: L/(‘/\'/\

1) Given y = x* —5x + 6, complete the following: \ L, ql o
l A
(a) Find the y-intercept, vertex and axis of 1y \ /‘
symmetry. §—iwn4 (D, ) vm(bs K/ ‘ /
=y 6 - 5 =5 % = ¥
X A 2 :’ LA /
Y= (Y -5 ru = -l By
(b) Convert to intercept form using factoring
and state the x-intercepts. \ | /
0 =Xx*Sxru \ 1/
0 = (X -22(X"3) N/
L*=2 X=2 ‘

(c) Sketch the graph on the axes provided
to the right. Be sure to include 5 points on |
the graph.

g |
2) Factor each polynomial completely. Show your work. Remember that you can check your answers!
(a) 3x* +8x-35 (b) 42x* —36x (c) 4x*> +14x—8 (d) 20x* —45
z -
(2% - N* £ ) bx (1X-4) 2(2 x5 7%= 5 (4 x™-4)

2 (2X =) )X 44) S (2%+3)(2%x-3)

3) Using what you know about the different forms of quadratic functions, write a quadratic function that
satisfies the given information.

{(a) Vertex: (1, ;-6) (b) Zeros: (-5,0) & (2, 0) (c) y-intercept: (0, -9)
W= (=" 7=0 Y= (X 4+ (X-2) Wz X +K =9

4) The function h(x)=—16x? +64x + 100 models the height, h, of a ball thrown and the distance, x, the ball
travels horizontally.

(a) At what horizontal distance will (b) What is the maximum helgzht of the ball?
the ball reach its maximum height7 lp‘* WY = =12y Y+ Ul 4+

- e (94 &+ pU (2D +ioo

) -32
- w/u,m f (%= Z) m

(c) What is the horizontal distance the ball traveled when it hit the ground?

D= -lL XT4LMY X oo LR .G 8 L L BCY
@6 o @l Less X = 4tV
b -

(d) A laser beam is pointed from a platform 30 feet above the ground and follows the path
h(x) = 10x + 30. Will the laser beam hit the ball? Solve algebraically and explain your answer in a

complete sentence. 0= -(lbX & q Xx-70)

(OXA30 = —\uX +bY X 100
0 = -loX  +gy X +30© Yo' A 29
0 = (2% & 2)(8X - 38D WAAR wmu\i“:w\,
X =\ )(’0%7 A Wy w| W



5) Convert the following quadratic equations into standard form.

(2) y=2(x—6)4x+3) (b) y=5(x+2) ~5
ﬁ:Z("«XlkSX“Z“\’('\%) N= slx*+ wWxy W -5
e 2 = GX 4 20X+ 2276
= ~Qz%-30 | V

6) Convert each equation from standard form into vertex form.

(a)y =22 ~10x-15 (b) y=—2x% +18x—13.3 &
y = (%1__\05(*‘ — ) —\S \J‘: _..'2'()(——\{.5’) 4+ 24
Jz (X=- DT —\g s
= =S = AL
7) Convert each equation from standard form into intercept form.
(a)y =x> —6x 27 (b) y =—2x% —24x 70
\ﬂ:(x-o‘7tx+3§] NS -2 (X 12X 43D

[y= -2 ¢ xX+erxea) |

8) Determine the number and type of solution for each equation. Then determine the number of x-
intercepts. Then, solve each equation.

(a) X —6x-10=0 (b) 3x* =~27 (¢) 2¥° +9x —11=0

(d) 3x* +x+7=3 (e) H(x-2)" =32 ([ 2¥* +3x=—x"-4x-5

9) Simplify each radical expression. There should be NO decimals in your answer.

(a) V300 = \ico-3 (b) V=108 = Jiosu (c)2vB0 2V1e-§ (d) —4V—81 -4V8\L(e)3v=27 3BJ2F u

- V33 U a-YyJg -9 (a)v 3\J°1~_"-‘>L
ER VS 1" 3-2V3 = qi3d

10) The revenue for a sporting event can be modeled by = —20t? + 200¢ , where t is the ticket price in
dollars. The cost for the event can be modeled by y = 20t — 720. Determine what the theatre group
should charge per ticket to break even.

—204% 4260 £ = 20t -F20 ™= Gvece

% Wead  \Maevat
—20t A+ 180K 4+qpo =0 ” ”

¢ \Z o \p{ ¢ nNC

/
VN -

“20 (¢°= g6 — Z3LD=°
—20 (4 \2ZOlx ¥23H =0
L =\2z t=-3
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